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1. The statement that is wrong about the parametric curve m

z—smh() y——l+cosh(t) t € (—o0,00) .
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The curve is the lower part of a hyperbola.
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(b)  The curve passes through the origin.
(¢)  The curve is symmetric about the y -axis. s L & =)
L i~
(d)  The cartesian equation of the curve is 2% — 3? — 2y = 0. “
(e) Fort < 0, the curve lies in the second quadrant. ~l+@shinz o
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2. The surface area of the solid obtained by rotating the parametric curve
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3. The number of points of intersection between the polar curves

r=sin(260) and r = %
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4. The graph of r2 = gin (26) is symmetric about

Gt 150
@ the origin only. C 9 Y 5

(b)  the origin and the polar axis.

(c) thez-axis and the y-axis.
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(d) the origin and the linef = =

(e)  the polar axis only.
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5. The area of the region that lies inside the cardioid r = 1 — sin (#) and

outside the circle is r = 1 is P
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The area of the region enclosed by the inner loop of r = 1 — /2 sin (0) is
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7. The intersection of the sphere with center (—1,4,2) and radius 7 with the
xy-plane is

@ the circle in the zy-plane with center (—1,4,0) and radius 3 N Ar—
(b)  the circle in the zy-plane with center (—1,4, 0) and radius v/5.

(¢) the circle in the zy-plane with center (1, —4, 0) and radius 3. ‘

(d)  the circle in the zy-plane with center (0,4,2) and radius 3 V5.

(e)  the circle in the zy-plane with center (—1,0,2) and radius 3 V5.
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8.  The vector that has ) direction to the vector(& 4, —3,0 > but has

length 10 is '\
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9.  The vector v with length v/8 that lies in the first quadrant and makes an

Ao o s,
angle 1 with the positive z-axis is

< 2,3>
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10.  If the angle between the vectors u and V is 5 |d| = 3 and |V| = 2, then
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11. Leti<l1,-1,2>,¥=<3,-2,0>. Then (2i — projg i) - V =
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12. Consider the points A(2,1,-1), B(3,0,2), C(4,-2,-1), D
value of m that makes all four points coplanar is
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13.  The set of all points at which the parametric curve

r=t3—-3t y=t:-3, t € (—o0,00)

has a vertical tangent is (’g? = 2 tL’ Q‘!ﬁ: > (T 52
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14.  The set of all values of b that makes the angle between the vectors
m
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15. The distance from the origin to the line passing through the points (0, 1, 3) &
/] and (1c—1,2) is
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